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Time Allowed : 2 Hours] [Maximum Marks : 100
1. For whom — “History is graveyard of aristocracies” ?
(A) Karl Marx (B) Vilfredo Pareto
(C) Robert Dahl (D) C. Wright Mills

2. First Chair of International Politics in the USA was established in 1919 in
the name of :
(A) Eisenhower (B) Woodrow Wilson
(C) Kennef.h W. Thompson (D) E.H. Carr
3. The Post-Washington Consensus deals with :
(A) Post-Colonialism : (B) Post-Modernism
(C) Globalization . (D) Anti-globalization

-

4, Who said — “Collective Security is based on the principle of ‘One for all and

all for one’” 7
(A) Nicholas J. Spykman (B) Quincy Wright
(C) Hans J. Morgenthau (D) E.H. Carr
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(A) el e (B) fa=we w@
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5. Who is considered as the father of Neo-realism ?

(A) Stanley Hoffman (B) Morton Kaplan

(C) Kenneth Waltz (D) Joseph Nye

6. In his theory of Political Party, who said the — “Leader should not lag

behind” ?
(A) Lenin (B) C. Wright Mills
(C) Robert Michels (D) Pareto

7. Electoral System of India consists of :
(A) First-éast-the-post-system only
(B) Proportional representation only
(C) Territorial, functional and ?roportional representation
(D) Functional representation only
8. Third Generation of Human Rights are known as :
(A) Social and economic rights (B) Legal and political rights

(C) Political and economic rights (D) Group and solidarity rights
AP(CC)POL. SCI.—A 4



5. f5Y Ta-guvER ® 996 A9 S g 2
(A) =T EE (B) WA HwH
(C) 39 A (D) s
6. oy ot Ta @ fagE § 7w R W, — Gw w99 e Al ?
(A) wfF _ (B) +t. wse faew
(C) a2 firsew (D) W&
7. urdm gAa el § fifed ¥ -
(A) waw vgT-Te-fR-dre-usf
(B) @am wmwfas Wk
(C) m.mﬁ@mm
(D) Hga yEEies Rt
8. WrE afuwd W ogad fF W S oW w o
(A) T wE afds Irfusr (B) Aufd wd Tsrifas AUFR

(C) THifas wE anfds s (D) T9F UH THIEM ® HAUHR
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9. The famous book titled — ‘Grammar of Politics’ was authored by :
(A) Harold J. Laski (B) John Locke
(C) Robert Michels (D) C. Wright Mills
10. The idea — “Another world is possible” belongs to :
(A) World Economic Forum (B) World Social Forum
(C) World Cultural Forum (D) World Trade Organization
11. Defining code of India’s Foreign Policy in the post-co]d war period is .
(A) Non-alignment | (B) Panchsheel
(C) Neo-liberalism e (D) Idealism
12.  Who said — “State is individual's writ large” ?
(A) Socrates (B) Cicero

(C) Aristotle (D) Plato
AP(CC)POL. SCIL.—A 6
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wfog TaF — ‘AR St dfafeg’ ® @t wE 4 2
(A) ¥lez 3. T (B) =7 @t®

(€) a2 fraes (D) . Tz foew
“srm fava &t wewE 2 @ faew fewd wafue ® 2

(A) fava snfds wrE (B) fava wmifas wrw
(C)fasaaiéﬁmw (D) fava =R WS
Yiaggr @@ # wwd faRw ffe w1 ofeafm = ¥
(A) Te-Fraeam (B) Y=l

(C) TE-FRER (D) YR

vz w wAfefasma iz o’ — @% fFa %@ ?

(A) gFd (B) fe=d

(C) =g (D) =&
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13. John S. Mill's idea of Liberty was :
(A) Posi;:ive (B) Negative
(C) Both negative and positive (D) Neither negative nor positive
14. Authority to alter the boundaries of states in India rests with whom ?
(A) Stale government | (B) Parliament
(C) Prime Minister (D) President

15. In which of the following cases the Supreme Court of India gave verdict that

the Preamble is part of Indian Constitution ?

(A) Gola;k Nath case (B) Babari Masjid case

(C) Minerva Mills case (D) Keshavanand Bharti case
16. The term ‘Indo-China’ stands fqr :

(A) Myanmar, Thailand and Laos

(B) Vietnam, Malaysia and Brunei

(C) Vietnam, Laos and Cambodia

(D) Laos, Malaysia and Thailand
AP(CC)POL. SCL—A 8



13.

14.
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16.
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(A) T &R (B) &g

(C) wum w3l (D) i
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e W ?
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(©) famam, wRig aw FwEied

(D) e, WA ad 45eis
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17. The idea that State is ‘f0 hinder the hindrances’, belongs to :
(A) T.H. Green (B) J.S. Mill
(C) Karl Marx | (D) Hegel
18. Which one of the following was not an example of Collective Defence
(A) NATO (B) Warsaw Pact
(C) SEATO (D) UNSC
19. The thesi_s ‘End of History' belongs to :
(A) Samuel P. Huntington (B) Francis Fukuyama
(C) Joseph E. Stieglitz (D) Kenneth Waltz
20. Gujral Doctrine was based on the principle of :

(A) Reciprocity (B) Non-reciprocity

(C) Hegemony (D) Unanimity
AP(CC)POL. SCL—A 10
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20.

7z faar fF e ‘amaedt o aen w0 & fom ¥, e ® 2
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21. Idea of Popular Sovereignty belongs to :
(A) Rousseau (B) John Locke
(C) Hobbes (D) T.H. Green
22. In India, the Right to Education is now a :
(A) Legal Right (B) Political Right
(C) Natural Right (D) Fundamental Right
23. Globalization has changed the nature of State from :
(A) Authoritarian to democratic (B) Democratic to authoritarian
(C) Liberal to neo-liberal (D) Neo-liberal to liberal
24. Philosophy of Indian Constitution has been derived from :
(A) American Constitution
(B) Canadian Constitution
(C) British Constitution
(D) Ohbjective Resolutions of Nehru
25. Who said Family is the only natural society’ ?
(A) Arist;;tle (B) Bosanquet

(C) T.H. Green (D) Rousseau
AP(CC)POL. SCIL—A 12
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At gy F1 fTen feed H@d9fva & 2

(A) &8 (B) ¥fH <&i®

(C) ®f=H (D) ™. WA
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(A) TEEET ¥ AEaEw (B) wrhdifas | HER!
(C) WREAR § T-F]|ER (D) FE-]|ER q FTRAR
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(A) emfe wfaus

(B) ®arel & wfaud
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(A) IFHg (B) @i
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26.

27.

28.

30.

Samuel P. Huntington has not given the idea of :

(A) Clash of Civilizations (B) Political Development

(C) Political Decay (D) End of History
Neo-Imperialism is not pursued through :

(A) World Social Forum (B) Multinational Corporations
(C) Technology Transfer (D) Foreign Aid

Judicial Review provided in Indian Constitution is exercised according to the

principle of :
(A) Due process of law (B) Procedure established by law
(C) Arbitration (D) Natural justice

Who said present Nuclear Age as ‘The Age of Overkill’ ?
(A) Palmer and Parkins (B) EH. Carr

(C) Max Learner (D) Friedman

The Governor does not appoint the :

(A) Judges of the High Court

{(B) Chief Minister

(C) Advocate General of the State

(D) Chairman of the State Public Service Commission
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(A) Tmsl &1 T (B) srifas fawm
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Ja-aaar frefafaa & wem § sl 58w o o
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31. The Panchayati Raj is included in the :
(A) Union List (B) Concurrent List
(C) State List (D) Residuary List
32. In which country Judicial Review is based on ‘Due Process of Law’' ?
(A) UK (B) USA
(C) India (D) Canada
33. Who is not associated with Idealism ?
(A) Kant (B) Hegel
(C) Lasﬁ (D) T.H. Green
34. Who gave the ‘Realist Theory' in International Relations ?
(A) David Easton (B) Harold Lasswell
(C) Hans J. Morgenthau (D) James Rosenau
35. Who is not related to Anarchism ?
(A) T.H. Green (B) Proudhon

(C) Bakunin (D) Thoereau
AP(CC)POL. SCI.—A 16



31. eradt Tw feod ofoifed & 7
(A) &= g (B) wwadt et
(C) T g (D) zaEfre =t
30, fra T § =i e ‘weE # sfe shE W sfa ¥ 2
(A) s (B) 2mafm
(C) (D)
33. FH EyiER ¥ waEfed TE ¢ ?
(A) e (B) @
(C) <=t | (D) Fw= 1=
34, =g dad § ‘ggdar w1 fagia’ fEw fagm 3 @ 2
(A) 2fFE e (B) #es wfgaw
(C) W R ws (D) = IS
35. @A FEEHAER q TEE T ¢ ?

(A) Hwm WH (B) it

(C) /A (D) 9/
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36. ‘Rule of Law' concept was propounded by :
(A) Dicey (B) Lasswell
(C) Garner (D) Leacock

37. Which is not an ‘intellectual foundation stone’ of Behaviourism according to

David Easton ?
(A) Regularities (B) Power
(C) Verification (D) Techniques
38. Who propounded ‘Communication Theory' ?
(A) No::bert Weiner (B) Neumann
(C) R.C. Snyder (D) Robert Tucker
39. “Imperialism is the last stage of capitalism” — who said this ?

(A) Karl Marx (B) Mao-Tse-Tung

¢

(C) Lenin (D) Stalin
40. Bentham was supporter of :
(A) Natural Rights (B) Historical Rights

(C) Ethical Rights (D) Legal Rights
AP(CC)POL. SCL—A 18



36. ‘fafy &1 ymA' F FEYRT F YU WEEd HE 94 2
(A) st (B) ©rHad
(C) TR (D) TS

37. froifafas 3§ ¥ F99 2fae @29 & AR =aenar %1 ‘difgE sunfaen’ @
% ?

(A) Frafiaand (B) wifF
(C) wEA (D) T
38. ‘wem fogh' @1 wfowes fed fm 2
(A) A 4R (B) =g
(C) M. FEst (D) a2 a1
39. “mmrgER sER w1 sfw W 2 9 fee @e 2
(A) e - (B) WS-
(C) i (D) w=ferd
40. 4 fe&a afusd % aads 9 ?
(A) wfom afasr (B) tfeafos ifiren

(C) Afow stfen (D) Fr Sfasn
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41. Which one is not an element of ‘Democratic Socialism’ ?
(A) Social Justice (B) Revolutionary Change
(C) Mixed Economy (D) Welfare State
42. The Rajya Sabha has exclusive jur;sdiction in :
(A) Approving a proclamation of Emergency
(B) The creation and abolition of State
(C) The election of Vice-President
(D) Authorize Parliament to legislate on a subject in the State List

43. The main characteristic of the traditional approach of Political Science

was !
(A) The Value Free Study

(B) Institutional Study

(C) Emphasis on Scientific Metl;'odology
(D) Comparative Study |

44. Which ideology relates the end of women’s exploitation to the end of

capitalism ?
(A) Marxist (B) Capitalist
(C) Socialist (D) Anarchists

AP(CC)POL. SCIL.—A 20
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42.

frefofan § ¥ Fr weEiGeh GOEER ¥ aE TE € 2

(A) wHIfSE = (B) wifaswrl wftae

(C) fafsm sredeaean (D) EHEHEOHER T

frg fwa W T gw W fafre iR (CEfEER) W@ R 2

(A) ST T OHmon & E(HA

(B) Tt &1 Tmio ud famed

(C) Ju-Tregufa & Fraf=e

(D) T g B e faw W EEE P & fag g S afuga wo
Torifa frem # gewrE gfew w1 e agn A@

(A) T gE HAAA

(B) HEUWTE AAAT

(© A wfafed | aa

(D) qermeTE AT

Frdt franum o wafm * fE qoer @ s @ Afeesi F owmw F:WOST
gm ?

(A) TR (B) stramal

(C) WHEER”! (D) FOSEHarEat
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45. Who are the two main post-modernist thinkers ?
(A) Bentham and Mill (B) Marcuse and Habermas
(C) Taylor and Walzer (D) Foucault and Lyotard
46. Which contractualist thinker created both state and society by contract ?
(A) Hobbes (B) Locke
(C) Rousseau (D) Rawls

47. In which case did the Supreme Court of India give the doctrine of ‘Basic

Structure’ of the Constitution ?
(A) Golaknath Vs. State of Punjab
(B) Maneka Gandhi Vs. Union of India
(C) Keshwananda Bharti Vs. State of Kerala
(D) Minerva Mills Ltd. Vs. Union of India
48. What does article 21A of the Constitution of India deals with ?
(A) Free and Compulsory Education to Children aged 6-14 Yrs.
(B) Freedom of Speech and Expression
(C) Protection of Life and Liberty

(D) Protection of Language, script or culture of minorities
AP(CC)POL. SCI.—A 22



45, T QA I T W@ ITW-afeaee faans € 2
(A) dgq @ faa (B) HMh+ UH FEHE
(C) e TE AT (D) ®rEFwE W@ TERE
46, Frm wdaEe fauns 3 U9 3 9O eE @ e wwaa @ fEm 2
(A) e (B) &=
(C) =9 (D) e

47, wdtes = 3 fea gweR # dfaum @ ‘qw @R’ W Een # saued
f@a ?

(A) TiEFg a" YEE T
(B) T Tl ®AM URAE T
(C) HyEWE WX TAW FIE T
(D) faal fom fa. @m aRdE €99
48, WA dfaum w1 ER 21T fEeR waEfm ¥ 2
(A) 6 14 74 & |l a=a1 & fog g T
(B) wrev § afusafaa &1 @a=d
(©) SR g A g

(D) SeqaEas] & W, @ F Hepla w1 FeE
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49. Who has the sole authority to decide whether a Bill is a Money Bill ?
(A) Speaker, Lok Sabha ‘
(B) President of India
(C) Chairman, Rajya Sabha
(D) Chief Justice, Supreme Court
50. Who is known as the ‘First Law Officer’ of the Government of India ?
(A) Attorney-General of India
(B) Advocate-General
(C) President, Bar Counci.l of India

(D) Chairman, Human Rights Commission

51. ‘Dyarchy’ or ‘Dual Government’ was introduced by which Act of Govt. in pre-

independence India ?

(A) Government of India Act, 1892
(B) Government of India Act, 1909
(C) Government of India Act, 1919

(D) Government of India Act, 1935
AP(CC)POL. SCIL.—A 24



49. faft off fag =1 w9 fa@ 993 & Ay Atm afusr 3 % 2
(A) reag, =it |
(B) warg Iegufd
(C) Jwfa, T3 9w
(D) He&a =k, Fdaied =Aaed
50. WrE SR A R ‘vym wm sfumd’ # oEwm oA ¥ 2
(A) WRE & HEAEEE!
(B) @I
(C) =A%, IV =ifad
(D) A%, FEETHFR A=

51. WA § sonet ¥ wd ‘3w wwA' @ ‘el weR' waw waEn % e sfufm
® Frta e W o 2

(A) um gar sfufaag, 1892
(B) Yra &R 3afafRgw, 1909
(C) vwra s@n Afufag, 1919

(D) wrRA &R AfufFaw, 1935
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52.

53.

55.

Which article of the Constitution of India bars a Member of Parliament from
holding an office of profit under the Government of India or the Government

of any State ?
(A) Article 100(a) (B) Article 102(a)
(C) Article 101(a) (D) Article 103(a)

Judgement of Supreme Court in Indira Sawhney Vs. Union of India

relates to :

(A) Reservation for OBC

(B) Reservation of Scheduled Caste

(C) Reservation of Minorities

(D) Reservation of Scheduled Tribe

What is the root cause of ‘sécurity dilemma’ according to John Herz ?
(A) Isolation ~_ +(B) Hegemony

(C) Mistrust (D) Rivalries

In which year was the Stockholm UN Conference on Environment held ?
(A) 1972 (B) 1982

(C) 1992 (D) 2002

AP(CC)POL. SCIL.—A 26



52. WG dfagm ® e sgees fEdt o 9 OWRe WEE 9 59 9@R |

TYHH 92 WEW HA Q afaq w2

(A) FT=R 100(a) (B) =2 102(a)
(C) =R 101(a) (D) =< 103(a)

53. Hdrea =EwE #1350 A ww @9 wen o fewd datm § 2
(A) ‘= faser o' & amam
(B) 3ggfaa ifa & A&
(C) HETHETHI & ARET
(D) FTgfaa SEenfa & W&
54. W4 ¥ ® AR ‘T A’ w1 vgm wRm w7
(A) THr<a™ ' (B) ===
(©) v ) e
- 55. frg =d 4 =fedm § S99 U wEiE s e oA ?
(A) 1972 (B) 1982

(C) 1992 (D) 2002
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57.

58.

59.

Who gave the model of “Tragedy of Commons’ to explain over-exploitation

of environment ?

(A) Milton Friedman (B) Garrett Hardin
(C) Brandtland Commission (D) Rio-de-Jeneiro Declaration
ASEAN was formed in which year ?

(A) 1957 (B) 1977

(C) 1967 (D) 1997

When was WTO established ?

(A) 1 December, 1995 (B) 1 March, 1995
(C) 1 September, 1995 (D) 1 January, 1995
Who was the main proponent of functionalism ?

(A) David Mitrany s (B) A.G. Frank

(C) Morton Kaplan (D) Samir Amin

Who was the proponent of the ‘Middle Kingdom Complex’ ?
(A) Lenin (B) Mao-Tse-Tung

(C) Stalin (D) Khrushchey

AP(CC)POL. SCIL.—A 28



56. ‘S mmrg &1 WEel e & ofa S d fafem & 9w wfewm fee R 2
(A) foeea wizid (B) e =fdq
(C) wizewie M (D) fEA-Z-33 oo
57. ‘offgar’ wt o feg e 9 g 2
(A) 1957 (B) 1977
(C) 1967 (D) 1997
58. ‘ﬁww@m'ﬁmﬂg{ ?
(A) 1 fem=r, 1995 (B) 1 #14, 1995
© 1 faam-, 1995 (D) 1 Sad, 1995
59. ‘wEimwma’ # fagim F e H 4 2
(A) z2faz ez (B) Tl Weh
(C) HEF Frar (D) R A
60. ‘W WY weEE’ FEuRm & wfaued fEER e 2
(A) < (B) wish-d@-gn

(C) wfem (D) gI=4a
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61. Which line divides India and Pakistan ?
(A) McMahon Line (B) Palk Strait
(C) Radcliffe Line (D) Durand Line

62. Name the War Crimes Tribunal under which the Nazis were tried after the

II World War 7.
(A) Belsen Trial (B) Dachau Trial
(C) Sobibor Trial (D) Nuremburg Trial
63. Which latitude line divides North and South Korea ?
(A) 37° Parallel (B) 38° Parallel
(C) 39° Parallel | (D) 40° Parallel
64. How many languages are there in the Eighth Schedule ?
(A) 18 , a B 20
(C) 19 (D) 22
65. Who was the first thinker to enunciaté the ‘Concept of Sovereignty’ ?
(A) Machiavelli (B) Bodin

(C) Hobbes (D) Austin
AP(CCPOL. SCL.—A 30



61.

62.

64.

65.

FEE G T wRg § witesas @) faufsg st & 2
(A) FFrE @ (B) WF TATHEYEA
(C) =hew Tan (D) =T @

fFw gg srwfs st & sl fodg fava g5 & i afedl @1 gwem

g o 2
(A) =oEd TEH (B) =r=rs 2Ee
(C) st TEe (D) == ZrEa

I wd afeolt Fifer = S age T fGafse sw@ 2
(A) 37° HHMAIR (B) 38° R

(C) 39° HHFRT (D) 40° FHHR
A sgdt # fHadt sond ¥ 2

(A) 18 (B) 20

(€) 19 (D) 22

‘vyE’ ®1 HauR wawey faw faemw 3 wiewfea w1 2
(A) FEgEE (B) #fe

(C) @\ (D) =nfEA
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66. ‘Liber’ giving the sense of liberty is originated from which language ?
(A) Latin (B) Greek
(C) Spanish (D) English
67. Who introduced ‘hegemony’ in the concept of civil society ?
(A) Marcuse (B) Habermas
(C) Althuser (D) Gramsci
68. Who is the author of the book ‘Counter Revolution and Revolt’ ?
(A) C.B. Macpherson (B) Herbert Marcuse
(C) Che Guera (D) Mao-Tse-Tung
69. Who described democracy as the tyranny of the majority ?
(A) Michael (B) Laski
(C) Aristotle - (D) De Toqueville

70. Which Schedule of the Constitution of India contains provisions for the

disqualification of a legislator on grounds of defection ?
(A) X-Schedule (B) XI-Schedule

(C) IX-Schedule (D) XII-Schedule
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66. TEa=m = fau ‘faat’ w= 1 afs fFg wo § @€ ¥ 2
(A) @fe (B) W=
(©) wfm D) sfem

67. mnﬁa:mﬁaamﬁ‘m'm%qﬁwﬁn&m?
(A) "I (B) Yawmr
(C) TgW (D) st

68. ‘= fEigyR we fEiw’ 1w & da® FH € 7
(A) &t Hwwda (B) ®a&e HHS
(C) = T (D) - -

- 69. fray womR & 'agEa w1 FiEyes e ?

(A) fd= (B) @R

(€) g ‘ (D) 2 ZwfEs

70. WRAE SfauE F oFEE sget § fumsl o oEed ® YR W weEa W

FE H A T ?
(A) FTgE-X (B) IgH-XI
(C) Fg=-IX (D) STg=-XII

AP(CC)POL. SCL—A 33 P.T.O.



71.

72.

73.

74.

75.

How miany members are there in ‘East Asia Summit’ group ?
(A) 14 (B) 16
(C) 12 (D) 18

What is the maximum period that shall not intervene between ‘last sitting
in one session and the date appointed for first sitting in the next session’

for each House of the Parliament ?
(A) 6 months (B) 3 months

(C) 9 months (D) 180 days

“Political System is that system of interactions in any society through which
binding or authoritative allocations are made and implemented.” To which

political scientist would you attribute this statement ?

(A) David Ei.lston (B) David Held

(C) Gabriel Almond (D) Karl Deutch

What type of International order prevails according to realist ?
(A) Anarchical . (B) Uni-polar

(C) Bi-polar (D) Multi-polar

The term ‘Linkage politics’ was given currency in study of foreign policy by

which author ?
(A) P.A. Raynold (B) Hans Morgenthau

(C) James Rosenau (D) Mortan Kaplan
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71.

72.

73.

74.

75.

‘&z ufyren wie’ wge d fead weam € 2
(A) 14 (B) 16
(C) 12 (D) 18

H6 % T GeA § uw g9 # 'efay 99F #1 9 | e 69 & 999 45%
% w9 sfusan feen o D TE@ ¥ 27

(A) 6 WE (B) 3 #®
(C) 9 wE (D) 180 f&=

‘i waeen fdt T # s fEmel # 9w yoren ¥ fawd g smamsd w@
areE g 1 Pl w frown e ¥ 3w fea ooifeerett # ¥ 2

A) 2z f=m (B) 2z tes

(C) Wfaga amHe (D) wfd 2w
geedanfedl ® U FAEE FaEd w BN d oa ?
(A) SHTSIHAER] (B) UFHE-YEA
(© fa-yia D) FE-yEH

a2y iy @ swormm § ‘feds o’ @ o= e ’a ?
(A) g Fieg (B) ¥ wfifars

(C) = TS (D) WA FHrEm
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76.

77.

78.

79.

80.

Policy of ‘Economic Recovery’ of Europe in the early years of the cold war
can attributed to which plan ?

(A) Trueman Doctrine (B) Marshall Plan
(C) Belford Declaration (D) Eisenhower Plan

The term ‘Banana Republic’ refers to the relationship between which type

of actors ?

(A) State and Non-state actors

(B) Developed and Marginal States

(C) Developed and developing states

(D) Poor States and MNCs

USA adopted which type of diplomacy during the Indo-Pak war of 1971 ?
(A) Gun Boat Diplomacy (B) Multilateral Diplomacy

(C) Deollar Diplomacy (D) Shuttle Diplomacy

In 1979, which Muslim country overthrew, its US backed leader in favour

of an Islamic government ?

(A) Iraq (B) Israel

(C) Afghanistan (D) Iran
Which canal divides Africa and Asia ?

(A) Panama Canal (B) Suez Canal

(C) Baudouin Canal (D) Murray Canal
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76.

77.

78.

79.

Yiegz ® Wiftvs we § 0w @ 'anfde sea’ Bg fEw A # g fem W
waa ¥ 7

(A) 7 foeia (B) H¥iel Frs
(C) FTHR =reum (D) SMESFelaT e

frr ol § sl & figd & wed d ‘e foofss sEuwon w1 o9Em g
% 2

(A) T9 Td TR-T9a FREFH

(B) fawfas wd wfed s a4

() fomwfaa @ fammefe =i

(D) " U § FRU=E S

1971 # YRA-I g% ° omf 3 e vEr F e & ow@Em a2
(A) M &R T (B) Fgusii TS

(C) sler U974 (D) ¥=E T=HF

1979 # foFg gfem 799 3 a9 Al wnfda e 1 FEEh JER B W
¥ ufEfda %t f'wn ?

(A) TH (B) FoEe
(C) erwmiTEm (D) ¥
oo @ AEE B BRE AR fawtee S ¥ 2
(A) WA B (B) @9 &l

(C) d=E 7= (D) T R

AP(CC)POL. SCI—A 37 P.T.O.



81. Near which place does river Beas enter Mandi District of HP. ?
(A) Bajaura (B) Sandhol
(C) Pandoh (D) None of these
89  In which district of H.P. are Keshang and Kerang streams ?
(A) Chamba (B) Kinnaur
(C) Kullu (D) Lahul-Spiti
83. Which is the smallest‘ sanctuary in H.P. ?
(A) Talra | (B) Tirthan
(C) Simbalbara . (D) Shilli
84. In which river basin is Patikari hydel power project ?
(A) Ravi (B) Beas

(C) Satlyj (D) Yamuna
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81.

82.

84.

few ® wodt fod 4 o 0 fFR @A F 9w vaw FE ¥ 2
(A) =S (B) dHE

(C) UEw (D) ¥H & w7
Fwim R Fam weund fey & few @A A § 2

(A) =% (B) fw=ir

(C) =7 (D) wga wHifa

few. # Tl S o w7 ¥ 2

(A) e (2Eq) (B) didq

(C) femacmrs | (D) fareed

it wia-fagm oo feg @ @ w ' ?

(A) T&Et (B) =9

(C) wags (D) FF
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85. When was the Directorate of Primary Education set up in H.P. ?
(A) 1984 (B) 1992
(C) 1994 (D) 2002

86. Which Raja of Sirmaur princely state shifted the capital of his state from

Rajban to Kalsi ?
(A) Suraj Prakash (B) Kaul Prakash
(C) Udit Prakash (D) Amar Prakash

.87. Which Raja of Kangra fell into a well while on a hunting expedition and

was presumed dead ?

(A) Megh Chand (B) Hari Chand I

(C) Jai Chand -« (D) Trilok Chand
88. When was Lahul taken over and ruled by the Sikhs ?

(A) 1826-27 (3) 1835-36

(C) 1840-41 (D) 1846-47
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85. few # wuftm e fFRyem wa wfwm g ?
(A) 1984 F (B) 1992 #
(C) 1994 § (D) 2002 #
ge. Touin & fem won 3 oft fagga =1 U9uE USEA | FOdl dgelt 7
(A) T wEW (B) #a W&
(C) T v (D) FH WHN

87. =M W FAE T YR G w99 HE # ik @ ov =@ W g wm femn

™ ?
(A) A9 =< (B) TR 9= w9H
(C) 91 == (D) s 5=

88. fudl 7 wa oga W fvEr = fom v W W TR @ @ ?
(A) 1826-27 H (B) 1835-36 H

(C) 1840-41 # (D) 1846-47 ®
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89.

91.

92.

-

Which Himachali Officer of Indian Air Force won Mahaveer Chakra twice ?
(A) Sqn. Leader Jag Mohan Nath

(B) FIlt. Lt. Lal Singh Grewal

(é) Sqn. Leader Baldev Singh Dogra

(D) FIlt. Lt. Veerender Singh

In which year weré Hamirpur and Una Districts carved out of Kangra
District of H.P. ?

(A) 1966 (B) 1967

(C) 1971 (D) 1972

To which place is Andhra Pradesh going to shift its capital ?

(A) Guntur (B) Amravati

(C) Kurnool . 2 (D) None of these

Around which year were the records of National Archives of India shifted

from Calcutta to Delhi ?
(A) 1891 (B)y 1905

(C) 1911 (D) 1916
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89. wwdm agET % few fewrel e A A AR wEEn =SF e ?
(A) TETgA wiEt w1 HA T
(B) w2 SRHe @ fie Tare
(C) T i 9eea fag 2
(D) TEEe dwere #ivk fiE

90. fem & =wmz fod § ¥ Free w1 feg ad wiivR @R 3 fael = o feen

g ?
(A) 1966 H (B) 1967 H
(©) 1971 8 (D) 1972 #

91. oy Wew I TIYET FE T W TG w3 oo W 8 7
(A) = (B) STt

(C) FU& (D) %98 §J Fi3 TE

92. e @d % Egm WREE TR w-stverarm F sfuea () sawa |

fersli o M ?
(A) 1891 Fua! (B) 1905 Z=ai
(C) 1911 Zuet (D) 1916 3T&
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93.

95.

When was Pradhan Mantri Jan Dhan Y?jna launched ?
(A) August, 2014 (B) October, 2014

(C) December, 2014 (D) None of these

Where is Islamic Seminary Darul Uloom ?

(A) Ajmer (B) Hyderabad

(C) Lucknow (D) Deoband

In which state of India is Kanha National Park ?

(A) Rajasthan (B) Madhya Pradesh

(C) Gujarat (D) Chhattisgarh

Who is Bidhya Devi Bhandari ?

(A) First Woman President of Nepal

(B) Prime Minister of Singapore

(C) Bhojpuri actress

(D) None of the above
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93.

94.

95.

96.

THE TSR 99 Y9 A e IR 8. 7

(A) T, 2014 ‘ (B) @@a, 2014
(€) fewr=r, 2014 : (D) 37 ¥+ 7@
e v w v e Tee S we € 2

(A) IR - (B) &R
(C) w&ETS (D) 2FE<
Fr TG U WRa 5 fFW w9 H ¥ 7

(A) ToRAH (B) W4 WV
(©) T (D) BTG
foeeft e #F ¥ ?

(A) e @t el g wegfd

(B) formE &t wu= HA

(C) T eIl TR

(D) SudE H | = TE

AP(CC)POL. SCL—A 45 P.T.O.



97. What is the name of Aung San Suu Kyi's political party ?
(A) National Unity Party
(B) National Democratic Force
(C) Union Solidarity and Development Party
(D) National League for Democracy

98, Which of the following suffered highest number of casualities in the Paris

terrorist attack that took place in November 2015 ?
(A) Stadium (B) Concert Hall Bataclan
(C) Comptoir Voltaire (D) Cambodian Restaurant

99. At what age did Jeanne Calment who holds world record for longest lived

person die ?
(A) 115 (B) 122
(C) 127 (D) 129

100. In which of the following Tennis events did Angelique Kerber defeat Tennis

Star Serena Williams in 2016 ?
(A) French Open (B) Australian Open

(C) U.S. Open (D) Wimbledon
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97.

98.

100.

M A g w o UHRE T W R AT E ?
(A) Fwma gie ol

(B) Ivrie ¥shiew i

(C) Ffaa AfafE ws Saevdz 9

(D) FyF@ = wROFHE

Famt 2015 F ARE H zW IEET A H wad wuwn 6 feefafes @ 3 ==l
e ?

(A) wfzam (B) +d2 T =wwERd

(C) wHmarEt Feat (D) wATSTT &0

fora weriz, for AR o) WHE OF Sifad @) @ fava e § Wi g e

W & a9 5 ?
(A) 115 =% (B) 122 =34
(C) 127 99 (D) 129 a4

frefafas § @ feg 26 vietm § deafas w3 3 2w =r 9 fafaas

A 7
(A) = 3 (B) ar=fags e
(C) Jug. g (D) fo=erE
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